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Chapter 12: Length

Addition of length

Let’s do exercise together.

Please complete the table below.

1. 75 WM +150 W\ =

2. aOwm+ 215 wm =
2. 5m+P5m= [ J
4. Adam+120 wm =

5 %4 wm+112wm=

. 44wm+9G3 m=

F. 5Wm+FO W=

S0 12m+ m=

a4. 3FTm+4Dwm=

10. 292 Wm+102 w =
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Please write down the correct answer.
1. 254 ¢t + 150 cvn - =

23 m + 193 cm =

I

2
2. 291 em +17F e
4

23 e + 16D o

I

5. 2D tm + 173 e =

(. 164 cm + 11 ¢ =

7. 101 e + 26 ¢

Il

A, 21 e + @ e =

a. 174 em + GO cm =

10. 47 cm +14 em

I

I

1M1. 32 om +190 cwm

12. 4D cocm +1F7F em =

I

12, D20 em + g em

14, 222 om +1D om

I

AV VARV VAR VAR VARV VAR VAR VAR VAR VR VY
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Please write doww the correct answer.

1. MWD ewm+Fmas em+5wm 20 ¢

R

2.10mMBE5cm+2m3Fem+2m 29 cm

p—

2.22mM3Bem+2mABd em+1 m 5 e

p—

AAFMAD M+ 2 M BDl em + 2 13 e

p—

5.2mM2tm+1m3Bdem+ 3 m 3B em

. 2T M m+ 2 m 2d om + Z m 17 om

FADOWM 3D e+ F M 29 cm + 5 wm 21 e
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BDAM22em+2mA em + 11 wm 3D e

R

A1 mM3IDem+3mabdom+Dm1D em

p—

10.15 WM 50 ¢ + 14 m 122 ¢

p—

M. 260 m19 cm + 37 m 11D e

p—

12.2m1aem+ e wm 27 cm + 4 wm 19 e

P

12.9mMm22em+ 3 m 35 em+ 2 m13 o

R

14. F wm A1 e + @ W 1606 cm

R
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Please write doww the correct answer.

1.5mMmAFem+2m A em+2m 3B em =

Z%W\Zﬂcmqt%vm%Zo\mMW\%sz:(

222MHA M+ 2mMAGem+Dm T em =

4\CDW\1?>OW\+11W\ZGMWH%W\%%OW\:(

515 M 53 e + 31 m DF ¢ =

C.AMF2em+12mMem+emiFom= |

FA2ZM 2 em+ 25 M0 e + 5w GG om = |

A. M50 cm+ 33 W54 e =

A Fm1dem+3m32em+ 9 vwm 51 e = (

’\D\%VV\”\DCVV\+1OW\ZCW\+0]W\%ZOW\=(

M5M2ADMm+m 12 e+ D m =

1214 mA0em +FmFem +194 wm 7 cm =
/\%\7W\%OOW\—P';VV\Z';GVV\%'%W\A—/\CW\::

14.5mMacm+1m2dcm+7Fm 2D cm = (

1.3 M 44 em + 41 m 29 ¢ =
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Subtraction of length

Please calculate the different height between two mountains.

L == ADA5 W — 2187F W
/-/ 2187 o \Q

2163 W - 2F3F W

2163 wm

2737 wm

3 === 2152 m - (245 m
/-/ ¢245 w i \Q
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Please write doww the correct answer.

1.2 mA47F em-120 cm =
2.6 m DT cm — 353 o =
2. DM D om - 2649 om =
4.2 mA4D cm =124 o =

5.2H1 tm =193 om =

G. 2020 W — A4 w — 293 M =

F.3 M52 cm— 24 cm =

?. 204 ¢m - A3 o =1 o =
A.5m 1 e — 274 e =

10. AW 3F e — 1D ¢ =

11.10 m 51 em — @1 F ¢ =

12. D95 W — 265 W — 262 I =

12.F W | em — 534 o =

14. 419 cm — D1 e — 1964 e =
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Please write doww the correct answer.

1.19m @0 e — Fm A4 e =1 W 20 ¢

- ]

212 m55¢em—06ewm 6D cm—2m 23 cm

|

214 mMFDL M -5 M DA e — 3 m 31 e

|

AATMmAl em -4 wm F3em — @ W 39 cm

- ]

5.21mM 72 cm - m5sd cm—awm T cm

|
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@A2ZmMB5tm -5mMBD3cm—23Wm 27

F.OM 34 cm -4 w57 cm

- ]

D2 M 2L cm—-5m 31 cm -2 mMm1D e

- ]

A1D M 2F em —Fm D4 em -5 m 21 e

- ]

10.9m Fem—4wm @2 em -1 m13 e

- ]
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Please write doww the correct answer.

1.10m 21 em =4 wm 24 om — 2 m1g om =
2.A9m3dcm-5m55cm-2m1D cm =
2.4Fm5adcm— Ame3 - G©wm 27w =
4 A2 WM B3 em-5m 24 cm -2 W57 cm =
510 M 2D em = F M 4D cm =1 W 64 cm =
.20 m 72 e =15 WM 54 ¢ =

1o wmAZem - Fm 55 om -2 m 4 om =
2.1AmM3Dom -2 m 24 om -7 w59 om =
A.15 m 4D om =4 wm 3dom -1 wm 23 cm =
10. 6 M 1Dt — 2 W 54 ¢ =

M1 12 m 73 em =10 m @9 ¢ =

12.25m 2 om -1 m F cm — D m 45 om =
12.7mM22cm-2m7F5cm -1 macm=
14.dm2Fem-4melom-23m2Dcm=
15 MM mA4F om - aAm 59 cm =

16. 25 M 53 ¢ =12 W 549 ¢ =
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Mixed operatiou

Please write doww the correct answer.

1.9mM3Acm+4 m 2D em —132 e =

2.502tm -1 m32m+2m 2D cm =

2. FME52em+2mE2em— G W FFm =

4. DA5em -2 mA4D ecm+1wm @2 e =

5.2m15m+ A3 cm — e m12 et =

. T2 M —=3 M50 cm+5m13 e =

F.AMSAcm+2m 3T em -3 M BD2em =

D.em3B5 M -1 md I em+23m4 cm =

A4maA2ecm+5mad1em —5m A e =

10. 3 WM 3G cem+Fm 41 e — 2 W 55 ¢ =

MFm3Tem-5m et om+1mod2om=

12.2 M1 em + e M1l cn — 2 " D1 ¢ =

12. FTmMm32cem -4 meFem+1wm 21 e =

14.5mB5cm—=1mBP3cm+23m D e =

AV VAR VRV VAR VA VAR VR VIR VAR VR VA VR V4
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Please write doww the correct answer.

1.9M45 m - wm53cm+1m 21 cm =

2.5m55cm+134 cm - 2 W Do e =

2 1M 25em+5wm 6D cm—2wm Ak e =

4. 2mD2em+bem43 em -1 m12 e =

5.Fm5acm -2 mao cm + 4 wm 65 ¢ =

C.2M20m+1 M35 cm—-2WmWm 29 e =

F.O35ME2m-1m25em+ 4 wm 26 ¢ =

D.5mMA5cm —2mBd0 em + 3 mAF e =

ADM22M-5mMaA2 cm+ 2 wm 33 ¢ =

10.4m 25 cm+ 3 m A1 om — 2 m A4 om = [

M FM35 M -3 M5 M+ 2 m13 cm =

12.6m29cm+1wm 2F e -5 W 77 e =

12.5mAbecm =2 m5Fem +1m 47 e =

14.Fm29m -2 m5ecm+ 2 w09 cm =

15.9mM10 M +5m 25 em — 3 W 749 cm =
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Please write doww the correct answer.

1.emaddoem -4 m4tem+1 m19 ewm =

2.2M 22 om+ A m 42 om-5wm 27 om = |

2AMB4 ecm+5mA2Zom -3 m 4G cm =
AWM em -1 m L em + 2w 24 om =
5. Am55em-5m el om+ 2 m 41 cm =
eAmNem+FImidomn -3 matom=

F.AMAGm+ 2 m5lem -3 M F5cem =

B om52em—4mTF4om+2ma43om= |

AD5m b cm =5mM52cm+1m13 em =
10.FmAF oM =3 m3Fom+ 2 m1S om =
MN2mMFem+5m27F cm- e m56cm=
12.em1om-5m37F cm+ 2 m55cm =

12.9mMAF e =3 M Bl e +1 m 39 ¢ =

V4. 42D em+1m3acm -2 m 6D om = |

15.em4oem—-2md3cem+1m47 cm =
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Please write doww the correct answer.

1L.5mMIF0em - AMFoem+1m 29 e =
2.2m24em+Dm 2D em- e m Fb cm =
2.6mAbem+1wm 2% em -5 m A0 cwm =
A 23mA4 em -1 m 4D em+ 3 m 55 e =
5.5m45om -2 m 21 om+ 3 wm 49 cm =
e.OWM21em—=5m54 cm+ 2w 25 cm =
7.aAm 0 ewm+1wmA em - Fm AaAd om =
5.5mMB 0 m -4 wmaAtem+1 wm @2 e =
AFmEZm+1m1b cm -4 wm B9 cm =
10.ema44d om—-2m55cm+1wmdom=
MAM2LZ2 em+5mA2Z em -2 m G2 om =
12.2 M a3 om -199 em + 2 W 42 cm =
12.9mM30cm+2m 24 cm -5 m 649 e =
14.Fmelem—-5m2Fem+2mi4 om =

15.Am12 em+1m 21 em -5 m 45 om =
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Please write doww the correct answer.

1.9Mbem =23 mAD em +1 W 73 e =
2.emb50cm+1wm32om-3 MmO om=
2.2mM2bem+ A mFAdom -2 m 26 cwm =
4.OmM25em-2m34cm+1m 2D em =
5. dm14d om -2 m32om+4 m14 cm =
e.ombom—2m5Dcm+ 2 wmADom =
F.25m24om+1m5lom -1 m 35 cm =
0. 4MmAD em+ 1 MmAF om - 2 m B9 e =

A 4mMBPLem-1m2Dem+4 w52 cm=

10.3 M 45 cm+ D mA4 cm — 5 wm 89 om = |

M4dmIoem-1m5E5cm+ G 22 e =

12,6 mA5 cm—5m 28 cm+ 2 m 26 om = |
12.6mAdom+2m 2% om -2 medom = |

14,9 M B2 om — G m &1 om +1m 27 om = |

15, 6mAd cm +1 mAT em - 2 W A7 om =
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